
15      Oral Answers [RAJYA SABHA] to Questions      16 

belongs to the workers. We have been 
raising this issue in this House on a 
number of occasions. Everytirne— I have 
sympathy for the Labour Minister—the 
Labour Minister would come and say that 
they have taken up the matter with the 
Ministry of Finance and the Ministry of 
Finance is not agreeing to it. Therefore, 
the most important question is whether 
the Government has a right to exploit the 
money of the workers as a chief source of 
the fund. Sir, the rate of interest is 8.5 per 
cent. The Government is utilising this Fund 
at a very low rate of interest. The impact 
of this is that the pension available to a 
common worker is very low. The 
Government is not going to index the 
pension. The Government is not able to 
expand the pension scheme. The whole 
working class is suffering because of the 
low yield of the corpus. Therefore, my 
specific question is whether the labour 
Ministry will stubbornly take up this 
matter with the Ministry of Finance to 
ensure that workers are allowed by the 
Government to have a better rate of 
interest on their own corpus. 

Secondly, I would like to know 
whether the Ministry of Finance believes 
that this should be done. This is not a 
bipartite agreement between the two. I 
would also like to know whether the 
Ministry of Labour believes that the 
Ministry of Finance should agree to the 
recommendation made by the Standing 
Committee on Labour. 
...(Interruptions)... Let him say. 
...(Interruptions)... It is unusual for the 
Minister to become helpless when the 
workers are being exploited. 
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SHRI GURUDAS DAS GUPTA: Sir, the 
interest rate on the corpus is low. 
Therefore, the yield is low. Let him 
admit that. 
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SHRI DIPANKAR MUKHERJEE: The 
question is, they have to get interest at the 
rate of 12.5%. It is under consideration of 
the Ministry of Finance.The House would 
like to have an assurance from the hon. 
Minister that he will take it up strongly 
with the Ministry of Finance and the 
Government will come out with a 
statement that 12.5% would be given. 
That is all. Nothing else.  
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SHRI TRILOKI NATH 
CHATURVEDI: Sir, after an assurance 
from the hon. Minister, I do not think 
that there is anything to ask. It is more so 
because the coverage has been increasing 
and the hon. Minister has also mentioned 
that from time to time interest rates have 
also been increased in view of the 
changed circumstances. He has given an 
assurance. Therefore, I do not propose to 
ask any supplementary. 
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SHRI RAM JETHMALANI: Sir, I am 
sorry, probably, the hon. Member has not 
carefully looked into the annexures which 
we have supplied. In about 8,000 cases, I 
do not wish to use a very strong word but I 
would only use a mild word, irregular out-
of-turn allotments have been made. I wish 
to make it clear that now we are talking 
about the past. It has nothing to do with 
the Ministry after I have taken over the 
charge. All these cases have been reported 
to the Supreme Court and the Supreme 
Court has examined each of these 8,000 
cases and has 
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finally come to a conclusioin that 1,637 

persons are to be evicted. The Supreme Court 

having made that order, the department got 

into action. They took action which the 

Supreme Court required them  to  take   in   

accordance   with   the decision. But, then, all 

parties met to-gether and wanted to protect all 

those who were to be evicted by the Supreme 

Court's order.   In  accordance  with  the 

general consensus of all parties, an Ordinance   

was   passed   and   the   Ordinance practically, 

protected everybody who was ordered to be 

evicted by the Supreme Court except three 

categories which the hon. Member will find in 

Annexure-A of our annexures. There are three 

categories which are not protected through the 

Ordinance. These are: (a) Cases in which the 

allottees were involved in sub-letting the 

Government residence; (b) Allotment has been 

obtained by making misrepresentation of facts 

or by fraudulent means or by payment of 

illegal gratification; and (c) Where such 

allotment is of a higher type of Government 

residence than the entitlement of the occupant. 

The Ordinance    did    not    protect    these    

three categories. These three categories which 

were  not   protected   by   the   Ordinance 

have,   in   turn,   to   be   identified.   The 

C.B.I,  has  been  put  upon  the job  of 

identifying a, b and c above. I must tell you 

that the net result has been that the C.B.I. has 

not yet identified anybody. So against a large 

number which was desired to be evicted by the 

Supreme court and some which were protected 

by the Ordinance, the net result has been that 

only about  16 per  cent  have  so  far been 

evicted. The rest have obtained stay orders 

from one court or the other. Now, after the 

Supreme Court's judgment the Cabinet had to 

sit again. The Government  decided  to  pass  

new   guidelines keeping in mind the 

directions of the Supreme   Court   and   the   

irregularities pointed out in earlier allotments. 

So, new guidelines were formulated by the 

Government in November, 1997. In accord-

ance with those new guidelines we are now 

getting a maximum of 5 per cent 

out-of-turn allotments and that also in perfect 

compliance with the principles which are laid 

down in the written guidelines and there are 

two committees which would go into these 

out of turn allotments. I can assure this House 

that nothing irregular or out-of-the-way or 

corrupt is being done. However, they are still 

called out-of-turn allotments. 
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SHRI RAM JETHMALANI: Sir, the 

Supreme Court took into account the poverty 

and other circumstances which the hon. 

Member has in mind. It showed its utmost 

sympathy by saying, "Even though the 

allotments were irregular, class I and class II 

accommodations will not be disturbed." That 

was the kind of accommodation which in the 

charge of the poorest people who had all these 

circumstances of equity in their favour. The 

Supreme Court itself said, "Do not disturb 

these." So, that matter was fully taken care of 

by the Supreme Court itself. The Supreme 

Court only decided that the persons who had 

no claim to sympathy should be evicted. But, 

even those who had no claim to sympathy 

were finally protected by the Ordinance. And 

even the Ordinance did not protect three 

categories, those are now being protected 

virtually by one or the other stay order issued 

by the courts. So far as the last question is 

concerned, we are trying to do something 

now. The Hon. Member should know that the 

Government is committed to build two million 
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houses a year, and once all those houses get 

constructed within a year the scarcity will go 

and the inconvenience which the Member has 

in mind and the sympathy which he has will 

all be looked after. 
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MR. CHAIRMAN: Anyway that is not the 
equestion. 
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SHRI RAM JETHMALANI: I would 

request the hon. Member as I would request 

this entire House to forget the remissness of 

the past. Let us now concentrate on the future. 

I assure the entire House that the promise 

which we have made will be kept and if it is 

not kept, as least, I will not be around. 

MR. CHAIRMAN: Question Hour is over. 
Now the Messages. 

 
WRITTEN   ANSWERS   TO   STARRED 

QUESTIOINS 

CPSUs under reference to BIFR 

'284. SHRI JIBON ROY:  

SHRI DIPANKAR MUKHERJEE: 

Will the Minister of INDUSTRY be 

pleased to state: 

(a) the names of the Central Public Sector 

Undertakings which are under reference to 

BIFR; 

(b) whether Government have decided to 

close any of these Undertakings; and 

(c) if so, the name of the same and what is 

Government's plan to redeploy the affected 

employee who have rendered less than thirty 

years of service? 

THE MINISTER OF INDUSTRY (SHRI        

SIKANDER        BAKHAT): 

(a) The names of the Central PSUs which 
have been referred to BIFR as on 31.3.1998 
are given in the statement. (See below)

 


